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GSQ/M-20 1717
POLITICAL SCIENCE

Paper II (Opt. I)

Comparative Constitution of U.K. and U.S.A.

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions.

fdUgha ik¡p iz'uksa ds mÙkj nhft, A

1. Examine the main features of U.S.A. Constitution. 16

vesfjdk ds lafo/ku dh eq[; fo'ks"krk,¡ crkb;s A

2. What do you know about the justification of Monarchy in

England ? 16

baXySaM ds jktra=k dk vkSfpR; Li"V dhft, A

3. American Senate is the most powerful second chamber in

the world. Clarify. 16

vesfjdu lhusV fo'o esa lcls 'kfDr'kkyh nwljk lnu gS A Li"V

dhft, A

4. Write a note on voting behaviour in England. 16

baXySaM ds ernku O;ogkj ij ,d fVIi.kh fyf[k, A
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5. Define the pressure groups in U.S.A. 16

vesfjdk esa ncko lewgksa dh Hkwfedk Li"V dhft, A

6. Discuss the Rule of Law of England. 16

baXySaM esa dkuwu ds 'kklu dk vk'k; Li"V dhft, A

7. Examine the socio and economic basis of the Constitution

of U.S.A. 16

vesfjdu lafo/ku ds lkekftd o vk£Fkd vk/kj D;k gSa \

8. Critically discuss the Political Parties in U.K. 16

baXySaM ds jktuhfrd nyksa ij vkykspukRed fVIi.kh fyf[k, A

9. Objective Type Question : 2×8=16

cgqfodYih; iz'u %

(i) When did the Constitution of U.K. come into

existence ?

(a) 1688 (b) 1689

(c) 1628 (d) None of these

baXySaM ds lafo/ku dk fuekZ.k dc gqvk \

(v) 1688 (c) 1689

(l) 1628 (n) buesa ls dksbZ ugha

(ii) How many States are there in U.S.A. ?

(a) 13 (b) 25

(c) 50 (d) 49

vesfjdk esa fdrus jkT; gaS \

(v) 13 (c) 25

(l) 50 (n) 49
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(iii) The tenure of House of Commons in U.K. is :

(a) 3 years (b) 4 years

(c) 2 years (d) 5 years

baXySaM ds dkWeu lnu dk dk;Zdky gS %

(v) 3 o"kZ (c) 4 o"kZ

(l) 2 o"kZ (n) 5 o"kZ

(iv) The Political System of U.S.A. is :

(a) Unitary (b) Federal

(c) Parliamentary (d) Monarchy

vesfjdk dh 'kklu iz.kkyh gS %

(v) ,dkRed (c) la?kkRed

(l) lalnh; (n) jktra=kh;

(v) The Constitution of England is :

(a) Flexible (b) Rigid

(c) Flexible + Rigid (d) None of these

baXySaM dk lafo/ku gS %

(v) yphyk (c) dBksj

(l) yphyk $ dBksj (n) buesa ls dksbZ ugha

(vi) The Political Party in U.S.A. is :

(a) One Party (b) Dual Party

(c) Multi-Party (d) None of these

vesfjdk esa jktuhfrd ny gS %

(v) ,dnyh; (c) nks nyh;

(l) cgqnyh; (n) buesa ls dksbZ ugha

(3)L-1717 3



(vii) The first P. M. of England was :

(a) Robert Walpole (b) Churchil

(c) Laski (d) Ramsey Muir

baXySaM dk igyk iz/ku ea=kh Fkk %

(v) jkWcVZ okyiksy (c) p£py

(l) ykLdh (n) jsEts E;wj

(viii) How many Articles are there in the Constitution of

U.S.A. ?

(a) 30 (b) 7

(c) 111 (d) 395

vesfjdu lafo/ku esa fdrus vuqPNsn gSa \

(v) 30 (c) 7

(l) 111 (n) 395
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